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. Instructions:

1) Answers to the sections are to be written separately in answer book.
2) Figures to the right indicate full marks of the questions.

3) Show important calculations separately wherever necessary.

4) Answers should be precise and to the point.

SECTION-1

Q-1(A) What is Cost Accountancy? FExplain in detail the function - wise (12)
classification of cost with examples.
Q-1(B) Distinguish between Cost Centre and Profit Centre. - (06)
OR
Q-1(A) Following are the particulars for the production of 2,000 units of “Ject (12)
company Itd” for the year 2017-18.

Particulars Amount(Rs.)
Materials 1,60,000
Wages 2,40,000
Manufacturing Expenses 1,00,000
Salaries 1,20,000
Rent, Rates and insurance 20,000
Selling Expenses 60,000
General Expenses 40,000
Sales 8,00,000

The company plans to manufacture 3,000 units during 2018-19. You are
required to prepare a statement showing the price at which units to be sold
50 as to yield a profit of 10% on selling price.
The following additional information is supplied to you:

1) Price of materials is expected to rise by 20%.

2) Wages are expected to be rise by 5%.

3) Manufacturing expenses will rise in proportion to the combined cost

of materials and wages. (P.T.0.)
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4) Selling expense per unit will remain the same.

5) Other expenses will remain unaffected by the rise in output.
Write a difference between Profit and Loss Account and Cost Sheet. (Any (06)

six points)

Define the term “marginal costing”. Discuss at length the advantages and (09)

limitations of marginal costing.

What do you mean by absorption costing? What are the advantages and

limitations of it?
OR

From the following data of “Jay Ambe Ltd”, prepare income statement

under :
A) Absorption Costing
B) Marginal Costing

Opening Stock 10,000 Units
(valued at Marginal Cost Rs. 61,900 and Total Cost

Rs. 72,000)

Units Produced 60,000 Units
Closing Stock 4,000 Units
Units Sold 66,000 Units
Variable Cost Rs. 3,57,000
Factory Overheads (Fixed) Rs. 70,200
Selling Cost:

Variable Rs. 3,40,000
Fixed Rs. 50,000
Selling price per unit Rs. 20

Write a note on: Key Factor
SECTION-1I

Explain the following terms:
1) Activity Cost Driver
2) Kaizen Costing
What is Target Costing? Explain it’s advantages in brief.

OR
The following particulars are obtained from the books of “Shree Ambika
1td”. _
Particulars Product A | Product B | Product C | Total
Production and { 30,000 20,000 8,000 -
Sales (Units)
Raw Materials 5 5 11 -—-
Usage (Units)
Direct Materials 25 20 11 1,23,800
Cost (Rs.) . _
Direst Labor Hours 4/3 2 1 88,000
Machine Hours 473 1 2 - 76,000
Direct Labor Cost 8 12 6 ---

(08)

(12)

(05)

(12)

(06)

(18)



(Rs.) ]
Number of |~ 3 7 20 30
production runs
Number of 9 3 20 32
deliveries _
Number of receipts 15 35 220 270
Number of 5 10 25 50
Production Orders

Overhead Costs: Amount (Rs.)

Set Up : 30,000

Machine 7,60,000

Receiving 4,35,000

Packing 2,50,000

Engineering 3,73,000

You are required to calculate cost per unit for each of the three products
using Activity Based Costing.

Q-4 (A) What is Cost Audit? What are the advantages of Cost Audit to (09)
Management, Consumers and Government?

Q-4 (B) Explain: Cost Audit in India. (08)
OR

Q-4 (A) Discuss at length the Techniques of Cost Audit. (09)

Q-4 (B) Distinguish between Cost Audit and Financial Audit. (08)

[P.T.0.]
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